THIS SIDE UP FOR LHR DOOR

-

FOLD HERE

CAUTION
DO NOT USE DOOR EDGE!
o
=
nlo ]
w'o /
22
|
|5 |
|
z. A |
O s L'_\
w o rT
0|2 R
(2x) METAL: DRILL/TAP FOR 1/4"-20 o | & o
MACHINE SCREWS. w!ly N
WOOD: PRE-DRILL 1/8" HOLES. T O LL
=< — @
05l !
< |
Y S — l
( P AN \I D_I :
| - N | |
- B I
AN 2 438
N——— - |
o T
] |
2 5/8" A P o r
(67] | P T
o |
B B B I[// ,/"\‘_\\’: ! : : ~ | ~ : ~
|'\ \__// //:: : : :
| ST :: | : :
| 1 : | I
Cd e
(A £i |
| |
! |
| |
g —
Y iva YOl R —
RN S I I
AN '
N . i
o |
O |
Z_DRILL/TAP FOR 1/4"-20 E|x .
AND INSTALL SCREW 218 | L.
AFTER FINAL ADJUSTMENTS. 2 a 7
& B
L [}
B
| LL
)
13/32" |
[28] - | 121320 19/16"
ADJUSTFOR — | =T [42] T ST [40]
BEST FIT ! !
l\
27/116"
| [62]
- 37/32"
d00d dHY J04 dNn 3dIS SIHL ~ [82]

4500 RIM EXIT DEVICE

STANDARD TEMPLATE
(FOR PANIC AND FIRE RATED DEVICES)

(REV: 04)
DWG NO: T-ED00043

(4x) METAL: DRILL/TAP FOR 1/4"-20 MACHINE SCREWS
WOOD: PRE-DRILL 1/8" HOLES.
SEXBOLTS: DRILL 5/16" CLEARANCE HOLES ON PUSH SIDE,
3/8" HOLES ON PULL SIDE.
TRIM: DRILL 5/16" CLEARANCE HOLES ON PUSH SIDE,
1/2" HOLES ON PULL SIDE.

(2x) METAL: DRILL/TAP FOR 1/4"-20 MACHINE SCREWS.
WOOD: PRE-DRILL 1/8" HOLES.
SEXBOLTS: DRILL 5/16" CLEARANCE HOLES ON PUSH SIDE,

5/8" CLEARANCE HOLE FOR BE & CE TRIM. 3/8" HOLES ON PULL SIDE.

NOT REQUIRED FOR DUMMY TRIM.
FOR NL TRIM SEE INSTRUCTIONS/TEMPLATE
FOR HOLE REQUIREMENTS.

9/16"
[15]

%

(mmmmmm{}

Y

—_————————

{

~S———————— e __1

\ \
| A I B IR
‘ ) Pl N
//) //) : I [
/ / ! I i
\ \ | I I I n
! \ L L 1 3/16
DEVICE & STRIKE G \ \ L B [30]
- - - - i | - - T - 1 - - -
A \\ \\ H i i 19/32"
n L[5
) ) Pl Ll Y
/ / P S
\ \ i I
\\\ \\\ L1 B
\ \ : I, P

40" [1016]
RECOMMENDED HEIGHT MAY BE
DETERMINED BY DESIGN SPEC'S

AFTER EXIT DEVICE IS CUT AND
MOUNTED, INSTALL END CAP
BRACKET CENTERED ON DEVICE ¢

FINISHED FLOOR

o> HOLE LOCATIONS

PRIMARY DIMENSIONS SHOWN IN INCHES,
DIMENSIONS IN [ ] ARE MILLIMETERS.

HAGER

COMPANIES

HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 « (800) 325-9995 « Fax (800) 782-0149



	Sheet1
	Drawing View1


